2022.11.01 W 2022.11.02 7K 2022.11.03 K 2022.11.04 % 2022.11.06  +
ClEh O [CiEA O |WwrFrKREZRA B22|C 3 O |Hb—3>71X O
B KIET (HHH-ERE) O |KIETEIER) O |P27—=059h2—-7 O |[kst@pEseEns=CcH O 3=k O
BRDODHBBLE 53 |HeE =T (BOIRFstS O |BEHFHEHFRL B24|543L O
B AZLo o &1 |EONABEDBEMIIZ  &E29|BXDOBHHDED 219 | X2SOVFE B2 |RY O
E) O |FeRViRg 1 z<dh O
o NFFI—=TI)k O |r-E80-020M O |KEEHEL/NY 812 |[RICED O [FEXkEFAFieH O
X0 L—2v O TS FF O |BDHALHC O
D)
XK 45 K45 XK 45 X 45 X 45
........................ 0 ceccescccescssccsssscsee 0 \_yj— 20 eeccecccsesccsscscssscces O *ﬁb—)b— O
K08 8 ERIE 8 KBKRKE 20 ERIE 8 CoAL\E 30
ZL 0 zZL 0 A& b ZL 0 A& 25
hho 2 £9< 10 8H B 0 PEBw 25 EFNRE 36
FRE 10 2K 1 s 1 EFRE 10 R 40
M ........................ O] ~ eeceescssccccctcccsccnee 0 L/J:57J\\\ 1 :‘é\t ) 3 1
®BAN 30 TA 30 F | eecesscscccccrsscscccces O ~ eecccesssccccccencscccee 0
XE 20 AZ 25|  eccececcrcenceccnconcans 0 B 40 3—77)L6 100
®l Hh 1 nhCh o 20 PO-2027J8 30 FoRY 20 g 10
o 1 ChICH< 10 ENRE 20 SELHOL 10| eeerererensnsnsnsnnne, 0
g WAThED 5 *N—=J2 10 A& 1B 43, 150
2L B 0 AGKE 10 *773Y 0 FNE 0| eeeeereeeesnsresesnnnns 0
........................ 0 ﬁg*}g 1 i) 0 (:/U‘:< 1 %ij@ 20
AB 20 Ef 1 1 )—58 0 BRI | T T T T T T T T T TTons 0
Lol 6| 8881 B0 BB 0| e 0 BN B 1EE O %K 5
HO B 1B 0 e 2 B 40| eeeccessecsecceccennnns 0 X 15
§g)[o Y eesesccccccsstttscccnes 0 fnsn@ 0 ‘jj‘ﬁ 15 ﬁlan 0
38 9 [FANAE 30|  cececceccecscccnccancnas 0 TKE 15| eeeceecceciciniinnane. 0
_F 2 =S 2 X 20 Az 10 BOSHACH 5
........................ 0 433 1 BFL BE 1= ol&=m B WE Lsop 0 0
241 20 e 1 i Y eeesseessenssenssenssens 0
........................ 0 0 0 =<Hh 10
3I—7)Uk 80 MS 20 KED 10| eeesesececececccceceneee 0
NFZF 30 TRy 20 g% 20 X 45
A1) o M8 o0 e 5 ZFE 2
FT—h=—-JlL 5 v 2 L—2> 5 B 0
........................ 0 0 sty 3 0
L—X> 10 * 1> FH— 25 R=FITNHF— 0 BA 20
........................ 0 HO—I59~ 20 0 15 s 0
TR 101 sesceseciiiiiieieieene 0
*xJ13>2 0
WiE o
&




2022.11.07_H 2022.11.08 K 2022.11.09 K 2022.11.10 K 2022.11.11 % 2022.11.12 &
Cldh O |CBh O [CBA O [@BHhhHldA O |ClRA O |ClRA O
B(KIET(2T-0AY) O [HWBTEITZNE) O |FNWEER-TVDR—T O |KIET CernF-HHx) O [KBTER-REDHe) O |BE<SAET O
=N {57 BT |ROLLONE P3RIEERGELPOFORY &6 |ROEBDHIBT &3 |FBDIEBFS B18(LST O
R|ZWOVEXGREBMWD & (ASLL-PDSATUS  &31 (EIDNAEBOEL O |mEAZEEHOBHINZ £19 [SATUSNACH O [F3L O
RY) O [BODBSEF O [LeT O |#Fe O |86 &1 |RD O
Rl VARl O [E=m3—-7TILh O |[R7=FR7k B2 |HELT —F B25| K2 T —HE S ERI O
o KY) O BDHALHC O
2
K45 K45 K 45 K45 K45 K45
........................ 0 0 0 BB ER 1 0 0
UKIg 8 kI8 8 FrAY 10 B+l 0 oKIg 8 Bkig 10
=L 0 =L 0 FERRE 10| ececcccccceccoccececcecs 0 =L 0 =L 0
79 15 t9'< 10 AZ 10 iklg 8 g8 1 A 35
nHH 5 ZMOEIEF 10 *N—T2 16 L0 RE 5 CeA 6 30
B eesceccececceceececcnces O] ~ eeccesscscccccenscccccee 0 RYRKEBES 20 Coh'E 20 HhhH&d 2 ER=E 30
AR 40 B 40 *Jr3 0 O 2l eeceecceccencnnienenes 0 AZ 30
AZ 20 LeoH 9 S 0.5 0 eeececceccccecncenceens 0 TR 40 INE 5
4 TR 20 B BN 0 i Mg 0 & 40 B8 0 iz: I
it 1 WhE 2]  eescccccccrssccccccennas ol L&D BER £ 0 pes! 1 i) 0
TFowT ] I LT LTI TP TP PP PT e 0 CoA LB 20 3 3] cecccccceniencinniencee Q] ~ seescescccscesccnscanees 0
Hon 1 AZ 30 mLAE 20 B HOn 0 nhCh 20 L5T 10
e 1 EF—<Y 10 BE 30|  eececccececcccacecaceene 0 AZ 20|  eecececececcccecncacnne. 0
g 1 B HOn BB 0| 7ZL B HVh & 0 IVRE 16 t'-v 10 3L 150
........................ 0 IHENE 1 E018) 1 ==HF 10 2L % 0 0
SwdD 10 - i:: B | IR TR TR R 0 Az 10 HOh 0 K 20
SKE 20 ZE 2 ES5NhE 20 L &B 0 TF 2] e 0
128 2| eesccccersscscccccnnnces 0 AZ 10 IN_FE 2]  eescccccccrsscsccccennes 0 3I—77)L 100
BER 1 Lop\E 30 BOL 10| eeeeeeererereeennes 0 MW= 20 WiE 10
WEE 1 E00 1 g 2 = B A RG] IS 0
4585 1 LS9 b BB L 0] eeeecceccseccsniinenne 0 = 2
B 1 B 0 g 1 23, 8 o @ 0
b I cesccescentcntieniennee O]  ecescecccenieniianiencees 0 SKED 13| eecccccececececcncacaeee 0
B 3=k 80 LS9 10 NR=FITNIF— 0 ELKE 20
= 2 =5 2l eecesccesieninnienienns 0 NhZSa—2 9 F—2 20
------------------------ 0 2 1 EDFENE 30 HI> 6| AL Chlc< B0
W 20|  eecececececcccccacacenne 0 23 10 IHENE 2l eecccceesieninnienienns 0
------------------------ 0 Y 20 A=TIyOvT 1 A=TI¥OvT 3 B0HACPZ 5
T—7F)Uk 80|  eeseccecceccecceccaennes 0 B8 F 0 YA =7 AN | I PP 0
HOAE 301 | eeesseesseesneenteenees 0 F—h=—)L 2
o3 o e, 0
........................ 0
fim




2022.11.14 B 2022.11.15 X 2022.11.16 K 20221117 K 20221118 & 20221119+
R hICw<ZFBTEdN B2T|BHRHLHCEh O [CBw (Ol EYY O [CBw O |BHL—3>7R O
B |KIBT G\ Y-LHL-CF) O |WFIET(BR-Z20ECFH) O |KIBTLYZ-AS-ZR) O [wEt@@E>naz-Ens-cf O [KRIETEN Y-LoHL-2F) O (3= O
BOHILE O |BOEDT P10 B IV KBS P |BOVTF—IKIBU—R BT | *BRO)YIVU—B 237|431 O
RB|ELAORFv O |IMEOBHHBOEL =33 [EFT<EZDVNEEDY) =89|AsLOLY &B23| AT v IEE O |&% O
kk O |3—vwmaE &l |LOTELEEDMIEE O | O
HINFF3I=TILk O  |mEBEANL) O [EXIYEANL O |hwbr—% O [ FrDA-TICEEESD B19 [RAKBHE O
OITI— O |BDHALHRC O L= O |BDHALH»C O
»)
XK 45 X 45 X 45 X 45 X 45 X 45
BO=@E\ 30 BB ED Y eecccccsccssccccntcccnce O] ~ seccccccssccccncccssccee O] ~ eeccecccscccccccccsccnes 0 *HU—)L— 0
RhlCH 15 L 0 xiEg 8 xig 8 xig 8 CehL\E 30
L&oOD | eeccccccscccccncccscccee 0 =L 0 =L 0 =L 0 AE 25
ZE O xig 8 L2 15 FO5NAE 20 FrRY 10 EFNRE 35
w1 ZL 0 Az 1B EFRE 10 S7ELHL b B 40
7 Hon 8B B 0 ¥ 20 g8 10 _E 2 E 2 j 1
........................ 0 i@g 10 I Y I I LTI 0 eecccsccccccccccccccccne 0 eeccccccccssccccccccccne 0 eeecccccccccccccccccccce 0
KIE 8 _E 2 B 40 B 40 BB 40 3—=7)Lk 100
#l /=4 AN 0] IR IITI TR LI 0 Ky 2 B#Z 8 FnRE 3 W 10
FrRW 10 & 40 B Hon L&DOH 0 g 3 DT 10[  eemeeesneeescnncccnnees 0
SELHL 6 B HOh 0 Wi 10 Hn BE 0 K1 3 43, 150
F 2| eeccccccrsscscccccnnnces 0 IFXIE] 8 X} 2 OBl LeOD O ~ eeccccsssccccccencscccee 0
........................ 0 WASE 20 = 4 1 )—58 2 0 8 20
B 40 AZ 20| = ecceccecccrcnccencancee O ~ sessssscccccccccccccccns 0 AZ 25| eececccrccencenccnncanes 0
AR 20 wims 10 £9< 20 AZ 30 JOv3dJ)— 20 ZKBHE 20
Hoh 1 28 8B #Mh 0 SwDD 10 W 5 KR 20  eeeeeeceenennnniininnees 0
&) 1 BB 1I® DAWCEBE 0 2B 8B O 2hR 0 5DHALPE 5
E | eeccssssccccccrsssccccee 0 WEE L5 0 F | eecssssscccccrsscscccces O ~ eeccccsssccccccencscccee 0
U] 0 KRR 80|  eecescecccccceccncccnces 0 a8 1 84 20
........................ 0 0 e 20 0 0
DEB» 30 *I\Z 10 J—> 20 CeAL\E 30 DiEB» 30
' 0 ZE 3 Zhm 0 L9 8 A=T)IyOvT 3
........................ 0 = 88 0 j‘v 2 J::Bg“ 2 :‘i 2
3I3—7)Lk 80 * THD O] ~ eeeesssscccccrsssccccces 0 =) O] ~ eecesssscccccrssscsccees 0
JNTF T 30| @ eeecceccerccncccnccncces 0 FHK 20| eecececcrccrcecceccncens 0 L—X2> 10
3% 0 B50HALHE 5 CE I HRIRUNMT—FIWTR 20| eeeeeeeeecessccnnnanens 0
T—k=—)L Bl cecceseccesicecinnnnens 0 ¥ 58 0 2% 10
........................ 0 1= 0 0
TIL—> 10| | eesescecceccceccncccnnes 0
........................ 0
i




2022.11.21 B 2022.11.22 X 2022.11.23 K 2022.11.24 K 2022.1.26 & 2022.11.26 +
Cldh O |C—Rh O BHHH[Eh O |CBA O |ClRA O
B|KIBT(EI<NRE-ER) O [t m1-LoL-2F) O ST Lo F-ENRE-CEH) O BN AVEAKET &3T(EE<SAKT O
R FBY I DENEHADRY 8 BASHIEROCTWD P4T(RDEMEL F46|ILE5T O
B (7 DI-EASOTENZ &32|HIES0thfilz 752 ELaN-1v &13 | KEDEFHIHRE B13|+3 O
SThYR O |EREASCeIW® BT 3 O | TVFEDOWD B30|RY O
BIBERAZSTILYIE - B29[USHTTFEY O RES KT VF— 86 [EA<OEA 831|=2—-7/Lk O
PIZABHE O |&Ew2IVRFT w7 O
)
K 4b K45 K 4b K46 K45
........................ 0 0 82 a7 1 0 0
Gkig 8 kI8 8 fBFtL o BOoz=A 30 Bkig 10
2L 0 Il Y T P P 0 AB 5 2L 0
tg< 10 JoOv3l)— 20 okig 8 nE 2 A 35
ns 2 S7ELHL 10 ZL 0 Luesr b Lo\ E 30
) gr 1B - F 2 CehLVE 20 BN 5 ENE 30
........................ 0 0 FhRE 10 O—V% 5 AE 30
& 40 A 30 cFE 2 lChlc< 1 gnE b
eS| i 0 SOFLNE 50| | eeeesesececececcncacanee 0 L&oOH 1 hie:] 1
L&Dh 1 L&DD 1 BA 30 ZL 0 ® 0
I 0 3525 0 =EHTE 5 ke 8  cecescescecescescecenees 0
E ) WhE 1 FEHAE 10| eeeecccccceccecccceccnce 0 L9 10
HOh 0 hie:] 1 AEZ 10 B 40| eececcecesececececencnes 0
EE Al eeeccscescecceccncencane 0 =5 5 g 2 45, 150
3 2 HFEw 30 hie:] 1 BmoE B 0]  eeseesceccscescescncenes 0
........................ 0 F 3 F 2 0 281 20
TOvO J— 20|  eeececececececececcncnes 0 =h Ho B LeOD 0 T 20| | eeececescscecececenenens 0
AZ 10 ZFENE 201 0000 | eececcescececceccecences 0 pes! 1 3I—77)L 100
°F 2 AZ 20 ZLAE 20 BH 0 WiE 10
EB® 0 B0HACPC 6 *N—=1JY 6 L I | I R 0
W 1 B 88 RRYM 0 Z1)=78 05 -
........................ 0 3 1 15 0 0
=R 20 CF 2l | eecescescssescescncenens 0 THE 20
........................ 0 ceecsessessessessessenes () 24%) 20 B50HALWE 5
AB 25 ey 201 0000 | sesesescsesiseniseninens 0 =018 1
ArIPa—-2 9 =W 0 X815 B
REX 2 cesrececiccnenceneceenes 0 S[E 5 chic 15 0
E ) o 20 sty 3]  eeccssscccccccsssscccces 0
........................ 0 I@hE 0 WE 5 CoAL\E 30
TKPHE 20|  cecececececccccececanns 0 15 0 <N 10
........................ 0 hie:] 2 B 10
........................ 0 X453 5
fim




2022.11.28 8 2022.11.29 W 2022.11.30 K =
FaEY O |CEh O |C—h O
B |BRIBST (DS 5BiB1) O  |HETHEBeERE-CE) O |HKETH(F>hASE-A2-CF) O
BOAL—LZTIL BT |\EE O |BELWHFOIRIESE P6
B (|RSLSIEDRRZ O | ER—-TV 516 |JHAEVTOWOY) 817
FYNRE B |7 )-EREAMmINz O |RY O
DRKETF—;{= 817 |#HA3—T )Lk O [RsHE= O
D |BENHHLRE O
D
X 456 X 46 X 4b
........................ O 00000000000 000000000000 O eecescescessscscsscssses O
17N 8 BRE 8 BR0E 8
zZL 0 ZL 0 L o0
S 20 MNEBw 25 EF5>NAE 15
MBI 10 EFRE 10 AZ 10
B eesceccececceceececcnces 0 F 2 F 2
BB 40| eeeccscesceccrcercencece O]~ eececscssccccesccssccnee 0
F®¥ b NEX 30 B 40
¥l B HL—% = O  eececsececsesicseniacens 0 LohZE 20
; 2 CoA\E 30 17N 5
[Zhlc< 1 *NR—12 b w3
........................ O é@@ ’] g; ‘]
B9 30|18 @ HM L 0 58 1
BERE 2] ececececicsicecenecncnes 0 X4 BN 18 0
125038 0 Ol J— 30| eececcscccceccrconcacens 0
........................ 0 155hEe 0 nhH 20
mE 20 INTE 2 W 10
|\7|\ 20|  seescscccccccccccccccces 0 ‘:/Uf:< %; 0
S5 0 3-7)L~ 80 [zl 1
=S 2 HFDONTE 30 =S 1
........................ 0 ) %E 1 0
FLAT 20|  eeecceccecceccecencenne 0 24 20
F—2 200 | eeececeseceiiicnienaee 0
AU—% [Chlic< 1R 0 oY 20
........................ 0 ENY 16
BOHACPZ 5 BO=ER 8
........................ 0 pies] 1
L B 0
B0V 88 0
........................ 0
]




